lewomirowlice

—Gni

esle

Wykres profili — droga gminna 104472D Ul

L: 46.500m
R: 1000.000m

Ti 0.270m
Dr -23.250m

uzeop1=2y |
92v62+1=u) 7

W6

Lt 84.000m
R+ 1500.000m

T: 0.588m
D: 42.000m

w/S'8ET=2Yy
00'T8T+I=W)|

143.0¢

142.0

141.0

140.0

139.0¢

138.0

137.0

136.0¢

o |~
W [
N
> o
o el
~ .
> . £
U H g
~N ~ @ 5 =
< ke
- > 3 - | o
< . = = o
. > N =
[ = [\ [mn}
— a4 )
2 |8y B =
3 . ]
=_ | S o |8 ~|_ T |3
=< |EC (22 o|F O ]
i o'z [P g S ER ] | =
== |- 0 g8 %[29= o | a
= o o (&3 2125l 8lo
w2 |2E (85| 28158
o> |© oS < 22 |7 Ble
S a = |5 a g Ie W = |5
o= o o |¥Pya|s B|E =
2 = 'c ,.W.WV.W,MﬁmJ.IG g
< O 5 ﬂglmWQ.w.wm.mw m
S= |87 [E3Ee Bl gy
= o e4,Mm.ZG.ZGm
=2 |85 |=S|<=|c &= g8
O N © HQMNHWJUWJU.Z m
S |a>s (888 |E | g|= <
= {
= oy 8| 3 m
s e B3 s | £ .
. 2 | 5 $ g H oy
5 s[5 |3 | [E|E | °
8 82 | 2 g & &g m
$0'SETT LO'SETT 20'0- 00'02
2€'GEITL2'SETT SO0 0001
LE'SET LE'SETT 000 2180
8
()
h
2'GEITLE'CETT SO0 00'00 —&
LY'SETTBESETT 600 00'06
€S'GEI{EY'SETT OO 00'08
£ne
8
In
8S'GEI16E'SETT 610 ﬂ.w 00'0L
A
Y9'GETT2C'SETT 2T0 00'09
69'GET109'SETT 600 00'0S
SL'SETT0L'SETT SO0 <€ | 000y
=[5
gz
£n
8L'GET{6L'SETT 00'0 ee
G8'GEI{88'SETT £0'0- 00'0E
20'9€1120°9€11 10°0- 00'02
6T'9ET1ST'9ET T 00 0001
3
n
ht
9E'9EI192'9ETT 010 0000 —&®
Sixe
&R
+5
NI
nlh
€S'9EITEY'9ETT OT0 0006
0L'9ET1E9'9ETT L0'0 00'08
L8'9ET1C8'9ETT 200 00'0L
Y0'LETTEOLETT 100 00'09
S0'LETEQLETT 200 64'8S
2E'LEITSTLETT LTO 00'0S
>
g
29'LEI{SY'LETT LTO NSt 000y
oo I
xo
p=]
~EE
3
2V
Q)
£ £
. . . Sa .
26'LETTEL'LETY 6T0 S<} oooe
A
o
22'8€1100'8€T 1 220 00'02
2S'8EITSI'BEIT LED 0001
8
<+
£
28'8€1105'8EIT 2E0 & [ 0000 —&
Lo
oIz
D7
£t
2T6ET1E8'8ETT 62'0 00'06
2V'6EITPEGETT 800 00'08
2L'6ET1CI'6ETT L0'O 00'0L
200¥1186'6ETT SO0 00'09
280411120511 110 00'0S
seoPT{ 1E0VT | £0'0 yo'sy
8Y'OYTH¥'0PIT $00 00'0¥
19'0¥T 1£S'0¥T1 €00 00'0€
8
[y
#
€LOYTTILOVI T 200 00'02
98'0¥1120TH1 1 9T0- 0001
06'0v11 20'T¥1 | €T'0- 9£'90
2
o
£
96'0¥T1 L0'THT 1 2T0- 0000 —&
96'0¥T1 00'THT 1 £0'0- 00'06
£
28
260411 20411 110~ {| 86 15°€8
m4
by
£8'0¥11 00'THT 1 €T0- 00'08
. . . el
89'0¥1126'0¥11 b2'0- Sa | oooL
Do
®
i i
ol
Ov'OYTL EV'OPT) ¥0'0- 92'09
6 01T 2v'0VTT €0'0- 0009
SO0PT1H6'6ETT 110 00'0S
£
O
L\
s}
N
n
)
IL'6E11LS'6ETT ETO 000
£Y'6ET{ EC'6ET| OO 002
LEGETTL26ETT OT0 00'0€
<&
2
¥
L0'6ET166'8ETT 600 00'02
G8'8EI1EL'8ETT 2T0 0001
o
o
[3Y]
*
69'8E118'8ETT ST'0- 0000 —
Ecl|lESw
gs||Lgs
65'8€1{bL'8ETT ST0- | S+ || FX ™ | 0006
68
vh
LS'BET169'8ETT 210~ 00'08
19'8E11+9'8ETT £0'0- <|£ [000L
<
=loy
als
£
TL'8E11L9'8ETT 00 00'09
68'8E11GL'8ETT ET0 0005
€6'8ET{6L'8ETT ¥T0 00'sy
'6E1 186'8E1 €10 000
>
55
N<
oS
Pm.”_,
Yo
ad
€E6EIT2E6ETT 100 00'0€
GS6EITHE'GETT 020 00'02
LL'6ETTT196ETT OTO 0001
o
S
+
e X
66'6E1106'6ETT 600 S|t 0000 —
ga
&
12041 1910V SO0 0006
1E0VT {62001 €00 81's8
YEOYTTL2'07T1 900 00'08
8E'0¥T1SE 0PI €00 00'0L
EVOYTSYOPIT 200 0009
Ly'OPT19%' 0PI 100 00'0S
25'0VT1LY'0PTT SO0 000
£
R
AN
B
9G'0¥T1184'0¥11 800 00'0€
19041 1 IS0V 1 600 00'02
C90¥T1+9S0VI1 600 0001
8
o
£
0L'0v110S0¥T1 610 0000 —@
YLOYITES 0PI 110 € ¢ | 0006
S5
S
i
-
6L'0¥T1SL'0¥TT $0'0 00'08
€8'0¥11SL0¥T1 800 00'0L
88'0+1108'0¥T1 800 00'09
26'0v14 L8'0VT1 So'0 00'0S
£6'0b1 88'0¥11 SO0 2g'8y
LOTHT100THT 1 £O'O 00'0¥
y2Tr11 9TTFI + 800 00'0€
£
<6
21
[=]r=)
ES
OY'IPI 1 ISTHT 1 600 00'02
LSTHT TH'TPT T OTO 0001
o
o
(2]
+
o
ELTYITHCTHIT 610 00'00 —4
06'THI 1 ILTHT 1 610 0006
90211 I8TYT+ 920 0008
€22V 26Vl T€0 00'0£
>
=3
NS
B3
Kk [}
p=l
6e2vitararit L20 o 00'09
98'2r1192'2r11 0€'0 00'0S
£
~|N
o
2L2v11082¥IT 220 mm 00'0¥
4= | <|&
Sl
bl
A
-
68'2b11EL2VTT 910 00'0E
S0'EY1186'2r11 L0'O 00'02
22EVI{ETEYTT 200~ 0001
8
n
[l
o | = P
21812
c| & (22|
(] 2 ° = @©
s £ = =
= 7] N + s N
c 2 = > > | @ ©
- - —
) ) ol c c o +3
c c | .2 ) o | B Qo
O o c = = @ IS
o8 o | N o o)
N N Ke) QL (o o =
o o | | |w]|O [ ¥




